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1. (b) (Total capacity dqy /fjrk)

60

2

30
(B)(A)

20Minutes

eff. (unit)/min3

(A+B)'s capcity of filling for one minute (A+B)

}kjk 1 feuV esa Hkjk x;kA
(3+2) = 5 ints/minute

(A+B) can fill the full tank in (A+B) Vadh dks Hkj
ldrs gSA

5
60

BandAofefficiency
tyTotalcapci

 =12 min

2. (b) If 
3
1

 unit of tank holds 80 litres

(;fn 
3
1

 Hkkx VSad dh {kerk 80 yhVj gS )

Then 1 unit of tank hold (rks ,d ;wfuV VSad dh {kerk)

= 
litres240

1
380

3
1
80






then, 
2
1

 unit of tank hold (rks 
2
1
Hkkx VSad dh {kerk)

= 240×
2
1

= 120 litres

3. (c) 

60

15

4 3

20
(C)(B)

12Hours
pipe (A)

efficiency
unit/hour

(Total capacity)

5

First hour, A and B works together and in second

hour A and C works together and It becomes 1

cycle (igys ?kaVs A rFkk B feydj dke djrk gS rFkk nwljs
?kaVs A rFkk C feydj dke djrk gS vkSj bl rjg ,d pØ
iwjk gksrk gS)

(A+B)'s one hours work (A+B) ds ,d ?kaVs dk dke)
= 5 + 4 = 9 units (A+B)'s one hour work (A+C) ds
,d ?kaVs dk dke = 5+3 = 9 units

They complete (9+8) =

17 units 2 hours

 ×3  ×3

51 units 6 hours

Capcity left ('ks"k /kfjrk) = 60-51 = 9 units Now 3

cycle's are completes
Now pipes (A+B) will start filling then they will

fill it in (vc (A+B) ikbZi Hkjuk 'kq# djrs gS] rks bls Hkjsaxs

9
9

BAofefficiency
lefttytotalcapci


 = 1 hour

Total time = 6 + 1 = 7 hours

4. (a) 

60
(T.C)

2

30

(I )
st

60Minutes
Tap

unit/min 1

(T.C = total capacity)
(I + II) one hours empting efficiency

(I + II ds [kkyh djus dh ,d ?kaVs dh {kerk)
= (2 + 1) = 3 units
(I + II) can empty whole tank in

(I + II iwjs Vadh dks [kkyh dj nsxsa)

)III(ofeffciency
C.T

  = 
3

60
= 20 min.

5. (b) Pipe 1 : Pipe 2
Diameter D : 2D

2

2
D








 :

2

2
D2










 D2 : 4  D2

efficiency of draining 1 : 4

Pipe I Pipe II
effciency 1 : 4
Time 4 : 1

Actual  ×10 :  ×10

Time 40 min : 10 min

[ SOLUTION ]
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6. (c) 

20 unit
(Total capacity)

-5

4
(B)(A)

5hours

unit/hour +4

(+) sing shows filling efficiency

(+ ladsr Hkjus dh {kerk dks n'kkZrk gS)
(-) sing shows emptying efficiency

(- ladsr [kkyh djus dh {kerk dks n'kkZrk gS)
If A and B work simulataneously.

Then A will fill 4 units/hour (;fn A izfr ?kaVk 4 ;aqfuV
Hkjrk gS vkSj B ik¡kp ;wfuV izfr ?kaVk [kkyh djrk gS)
Overall 1 unit/hour will be emptied.

(,d ;wfuV izfr ?kaVk [kkyh gksrk gS)
Full tank will empty in (iwjh Vadh [kkyh gksus esa yxk
le;)

1
20

54
20

.effs'B,effs'A
itytotalcapac







  =  20 hours

7. (b) 

(T.C)

21

6

4
(B)

(A)
3hours

efficiency 7

A's efficiency is 7 units/hr (A dh dk;Z {kerk 7 ;wfuV izfr ?kaVk
gS )
A's efficiency after leakage 6 units/hr (fjlko ds
ckn A dh dk;Z {kerk 6 ;wfuV izfr ?kaVk gS)
Leakage efficiency = 7 - 6 = 1 units/hour

Leakage will empty the fully filled tank: (fjlko
}kjk iwjh Vadh dks [kkyh djus esa fy;k x;k le;)

1
21

Efficiency
C.T

 = 21 hrs

8. (b) 

300

75

4 6

50
(A + B - C)(B)

60min
(A)

Unit/min

(Total capacity)

5

(C is third pipe It is emptying pipe

(C ,d rhljk ikbZi gS tks [kkyh djrk gS)
efficiency of A + B - C = 6

                  5 + - C = 6
                  - C = 6 - 5 - 4
                  - C = - 3

                             C = 3 units/min

Third pipe can empty the tank, (rhljk ikbZi VSad dks [kkyh
djsxk)

3
300

.effs'C
C.T

 = 100 minutes

9. (d) Let total capacity of tank (ekuk fd Vadh dh dqy
/kfjrk) = 6 units

  Efficiency of A/hr. = 
6
6

= lunit Half tank

capacity (vk/s Vadh dh /kfjrk) = 3
2
6
  units

It will be filled in (bls Hkjus esa yxk le;) = 3 hrrs

According to question,

3 more tap of capacity (1 unit/hr) are opened
with first tap

Total capacity of 4 tap (4 uyksa dh dqy {krek) = 4

units/hrs

They will complete in = efficiency
C.T

= 4
3

h/units4
units3

  hours

Total time = 
4
3

3  hrs

               = 3 hr.45 min

10. (c) 

Pipe A  : Pipe B 

efficiency 3

3

3

3

1

Time

eficiency
(efficiency and time are

inversely proportional)

(T.C)

1

1

:

:

Total time taken by

A + B (A + B }kjk fy;k x;k dqy le; )

= 4
3

13
3

)BA(ofefficiency
C.T







4
3

 units of time = 36 min

1 unit of time = 36 ×
3
4

(B takes 3 units of time to fill alone)

3 units of time = 36 × 3
3
4
  = 144 mins
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11. (d) (Total capacity)

12

efficiency
-6

2
(C)4

(B)
3

(A)

4

Hours

(A and B are filling pipe and C is empty pipe (A

rFkk B Hkjus okys ikbZi gS rFkk C [kkyh djus okyk ikbZi gS)
If all pipes are kept open then unit/hr filled:

A + B - C

  4 + 3 - 6

  1 units/hr

Empty tank will be filled in ([kkyh Vadh Hkjus esa yxk

le;) 1
12

efficiency
C.T

  = 12 hrs

12. (b) (Total capacity)

60

efficiency
2

30
(C)20

(B)
15
(A)

4

hours
Pipe

3.

(A and B   filling pipe, C  waste pipe)

According to questions

All pipes function simulataneously

(lHkh ikbZi ,d lkFk [kqyrs gSa)
A + B will fill (4+3) = 7 units/hr

C will empty = 2 units/hr
total filling /hr = 7 - 2 = 5units

Tank will be filled in (Vadh Hkjus esa yxk le;)

12
5

60
Efficieny

C.T
 hrs

13. (d) 

225
(Total capacity)

5

45
(B)(A)

Minutes

6

75
2

efficiency

According to questions:-

cistern fills in 30 minutes (gkSt 30 feuV esa Hkj
tk,xk)

So pipe A worded for 30 minutes (vr% ikbZi A 30

feuV dke djrk gS)
If filled = 30 × 6 = 180 units

Capacity left ('ks"k /kfjrk) = 225 - 180

            = 45 units

So this left capacity must be filled by B (vr% 'ks"k
/kfjrk B  }kjk Hkjh tk;sxh)

B must have filled it in 
5
45

 = 9 min.

14. (c) 

(Total capacity)

16

-1

16
(B)

(A)
8hours

efficiency 2

One hour work of A and b (A rFkk B ds ,d ?kaVs dk dke)

= 2 - 1 = 1 unit Time taken to fill the empry

cistern ([kkyh gkSt dks Hkjus esa yxk le;)

1
16

eficiency
C.T

  = 16 hrs

15. (b) 

(Total capacity)

pipe filling emptying

40

-8

5
(B)(A)

8hours

efficiency 5

Pipe  filling emptying if both pipes are open,

then total unitis/ hr empty the tank (;fn nksuksa
ikbZi [kksy fn;k tkrk gS rks Vadh izfr ?kaVs [kkyh gksxh) (A - B)

= 5 - 8 = - 3 units
According to questions,

Tank has 
4
3

 of its total capacity in begining 
4
3

× 40 = 30 units

Time takesn to empty the tank (Vadh [kkyh gksus esa

yxk le;)  30
30


 = 10 hours

16. (c) According to questions,

If tank has 4x litres of total capcity and it holds
3x litres of water and, if 30 litres of water is
taken out, then tank becomes empty, it mean

3x litres of water is taken out (;fn Vadh dh dqy /
kfjrk 4x yhVj gS vkSj blesa 3x yhVj ikuh gSA ;fn 30 yhVj ikuh
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fudkyk tkrk gS] rks Vadh [kkyh gks tkrh gS] bldk eryc gS fd
Vadh ls 3x yhVj ikuh fudkyk x;kA)
3x = 30 litres
x = 10 litres

  capacity of tank (Vadh dh /kfjrk)
= 4x = 4 × 10 = 40 litres

17. (d) 

(Total capacity)

Top filling emptying

180

-3 units/min

60
(B)(A)

45hours

efficiency 4

In first minutes A fills 4 units of water (igys
feuV A, 4 ;wfuV ikuh Hkjrk gS) In second minutes B

empty - 3 units of water. (nwljs feuV esa B rhu ;wfuV
[kkyh djrk gS) After two minutes tanks has 1

units of water. (nks feuV ds ckn Vadh esa ,d ;wfuV ikuh
gS)
NOTE: Decrease the higher value i. e 4 from

total capacity 180-4 = 176 units.

1 unit filled in 2 minutes (nks feuV esa ,d ;wfuV Hkjk x;k)
176 units filled in 352 minutes (352 feuV esa 176 ;wfuV
Hkjk x;k)
Now in next minutes pipe A will fill 4 units.
And tank is full so total time taken is 352 + 1 =

353 minuts of 5 hour 53 minutes
18. (a) Pipe A : Pipe B

diameter D : 2D

2

2
D








 :

2

2
D2










4
D2

: 2D

D
2

 
1

D2 4 :

A :

:
:

B
eff.

Time
1 
4

×10

4
1

40 min 10 min

40
(T.C)

41effocoemncy

(A+B) empties in (A+B }kjk [kkyh djus  esa fy;k x;k

le;) =
14

40


= 8 minutes

19. (d) 

60

12

5 15

4
(C)(B)

15Hours
pipe (A)

efficiency

(Total capacity)

4

(Filling
Pipe)

(Filling
Pipe)

(Emptying pipe)

Pipe A opens at 8 am. it fills 4 units/hr (ikbZi A
8 am. dks [kksyk x;k vkSj ;g pkj ;wfuV izfr ?kaVk Hkjrk gS)
Pipe A fills 4 × 3 = 12 unit in 3 hrs so by 11 am.
if fills 12 units similarly

Pipe B opens at 9 am. it fills 5 units/hr (ikbZi B
9am dks [kksyk x;k vkSj ;g ik¡p ;wfuV izfr ?kaVk Hkjrk gS)
By 11 am it fills 5 × 2 = 10 units total water in

tank till 11 am (11cts rd Vadh esas dqy ikuh dh ek=kk)
= 12 + 10 = 22 units
Now, 11 am onwards all pipes work

simultaneously including emptying pipe. (11 am

ls vkxs lHkh ikbZi ([kkyh djus okyk ikbZi Hkh) ,d lkFk dke
djrs gS)
(A + B + C) efficiency is 4 + 5 - 15 = - 6 units
So now 6 unit will be emptied per hour Tank

will be emptied at 
6
22

= 
6
4

3 = 3hr 40 minutes

11am + 3hrs 40 min. = 2 : 40pm

20. (d) 

(Total capacity)

14

6

7
3

(A - Leak)(A)
45hours

efficiency 7

efficiency of A (A dh dk;Z {kerk) = 7 units/hours

efficiency of A after leak (fjlko ds ckn A dh dk;Z
{kerk) = 6 units/hours Leak's efficiency (fjlko
dh {kerk) = 7 - 6 = 1  unit/hour

Now leak can draw full tank in

1
14

leakofefficiency
C.T

  = 14 hrs
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21. (b) 

(Total capacity)

60

2

(B)
Pipefilling 

(A)
20minutes

efficiency 3

30

According to questions,
Pipe 'A' is closed after some time. and Tank is

filled in 18 miunites so B started filling in
beginning and worked till last i.e 18 minutes

(ikbZi A dqN le; ds ckn cUn dj fn;k tkrk gS vkSj Vadh
18 feuV esa Hkj tkrh gS vr% B 'kq# ls vksj rd dke djrk
gS)
So, 2 × 18 = 36 units is filled work left = 60 - 36

= 24 units This 24 units must be filled by Piepe

A in beginning (24 ;wfuV vfrok;Z #i ls ikbZi A }kjk 'kq#
esa Hkjk tk,xk)

22. (d) 

xy

x

y
(emptying)(filling)

hours x

yeffciency

Total efficiency of both pipes is (nksuksa ikbZiksa dh
dk;Z {kerk) (y-x)/hr

Tank will be filled in (Vadh Hkjus esa yxk le;)

xy
xy
  hrs

23. (c) Apply formula of

2

h
22

1

h
11

W
2DM

W
1DM


Let 'P' pumps are required to empty the

reservior. (ekuk fd tyk'k; dks [kkyh djus esa 'P' iEiksa
dh t#jr gksxh)

reservir

dayshours

reservir

dayshourspumps

1

129P

1

15612 




P = 10 Pumps

24. (a) 

Pipe A  : Pipe A-leakage 

efficiency 2

22

× 36

1

Time 1

:

:

1 unit = 36hrs

36 hrs

25. (d) Let (A + B) fills 1 litre in 1 minutes (ekuk fd
(A + B ) ,d feuV esa ,d yhVj ikuh Hkjk x;k)
Then (A + B) fills is 36 minutes (A + B) }kjk 36
feuV esa Hkjk x;k ikuh) = 36 litres According to

question

(A + B) work only 30 minutes then pipe filled by

(A + b) in 30 minutes is = 30 literes remainning

part ('ks"k Hkkx) = 6 litres 6 litres part filled by A

in (6 yhVj Hkkx dks A }kjk Hkjus esa yxk le;) = 10

minutes 1 part fillled by A = 
6

10
 minutes 36

part filled by A (36 Hkkx Hkjus essa A }kjk fy;k x;k le;)

= 
6

10
 × 36 = 60 minutes

T.W
180

5 litres/minute

36
(B)(A)

60

3effocoemcy 

A + B = 36 minutes
A = 60 minutes

A's efficiency (Adhs dk;Z {kerk) = 3 litres/minutes

B's efficiency (B dh dk;Z {kerk) = 2 litres/minutes.

B can alone fill the tank in (B }kjk vdsys Vadh dks
Hkjus esa yxk le;)

= 
2

180
Bof.eff

C.T
 90 minutes

26. (c) 

(total capacity)

120

efficiency
8

15
(A+B+C)20

(B)
20
(A)

6

minutes

5

(A + B - C) one day work = 8

6 + 5 - C = 8
11 - C = 8
C = 8 - 11

C = 3
C =  3 units T.C = 120
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× 1 ×1

3 Galons 120 unitsActual 
emptying
capacity 

= 120 Galons

27. (d) 

efficiency 30 15 10
-12

120

(P)
(Q) (R) (S)

hour
4

8 12 10

In order to fill the cistern in less time. (gkSt dks
de le; esa Hkjus ds fy,)
So efficiency of filling should be more (vr% Hkjus
dh dk;Z {kerk vf/d gksuh pkfg,)
Now, check all options (lHkh fodYiksa dks ns[ksa)
(A)  Q efficiency 15 units/hr

(B)  (P + R - S) efficiency = 30 + 10 - 12 = 28

units/hr

(C)  (P + S) efficiency = 30 - 12

       = 18 units/hr

(D)  (P + Q - S) efficiency

     =  30 + 15 - 12 = 33 units/hr
Option'D' is answer.

Since efficiecny of option 'D' is highest. (fodYi
D dh dk;Z{kerk lokZf/d gs)

28. (d) 

(Total capacity)

30

2

15
(-A+B)
Filling 

(-A)
10hours

efficiency 3

Pipe A is emptying at 3 units/hr (ikbZi A rhu ;wfuV
izfr ?kaVk [kkyh dj jgk gS)
When filling pipe'B' start function then

emptying rate comes down to 2 units/hr (tc
Hkjus okyk ikbZi B [kksy fn;k tkrk gS rks [kkyh gksuh dh xfr
2 ;wfuV izfr ?kaVs de tkrh gS)
So filling pipe efficiency is (Hkkjus okys ikbZi dh
dk;Z{kerk) (3 - 2) = 1 unit/hr Pipe 'B' will fill tank

in (B ikbZi }kjk Vadh dks Hkjus esa fy;k x;k le;) = 
1
30

=

30 hrs
filling rate is 4 litres/minutes It will fill 4 × 60

= 240 litres/hr.
Total capacity = 240 × 30
                     = 7200 litres

29. (c) 

(Total capacity)

12

2

6
(B)

(A)
10hours

efficiency 3

A will fill 3 unnits of water in Ist hour (igys ?kaVs esa
A rhu ;wfuV Hkjsxk)
B will fill 2 units of water in IInd hours (nwljs ?kaVs
esa B nks ;wfuV Hkjsxk)
5 units in 2 hours (2 ?kaVs esa 5 ;wfuV Hkjsxk)

×4 ×2

10 units 4 hours
Work left = 12 - 10 = 2 units

Now, A will begin he completes 2 units in 
3
2

hours

Total time = 
3
2

4 hours

30. (c) Qty T i m e
(minutes)

Boy  4 litres 3

Girl  3 litres 4

Boy  (4 3) × 4 = 16 litres in 12 miuntes

Girls (3 4) × 3 = 9 litres

(Boy + Girl) pour

25 litres 12 minutes

×4 ×4

100 litres 48 minutes

31. (a) 

(Total capacity)

30

2

15
(B)

(A)
10hours

efficiency 3

efficiency of both pipes (nksuksa ikbZiksa dh dk;Z{kerk) =

3 + 2 = 5 units/hrs

They both will fill the tank in (nksuksa }kjk Vadh dh
Hkjus esa fy;k x;k le;)
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5
30

Efficiency
C.T

 = 6 hours

32. (a) Let total capacity (ekuk fd dqy /fjrk) = 42

untis

  (A + B + C) per hour work = 
6
42

= 7 units A +

B + C fills 7 units/hours they all worked for 2

hours (os lHkh nks ?kaVs dke djrs gSa)
Total water filled (Hkjk gqvk dqy ikuh) = 7 × 2 = 14

units

Capactiy left ('ks"k /kfjrk) = 42 - 14 = 28

A + B = 
7
28

 = 4 units/hr.

(A+B) efficiency 4 units

C's efficiency (C dk;Z{kerk)
= [(A + B + C) - (A + B)] effciency
= 7 - 4 = 3 units/h

C can alone fill the cistern in (C vdsys gkSt dks
Hkjsxk)

3
42

Efficiency
C.T

 = 14 hrs

33. (b) 

(Total capacity)

120

efficiency
12

15
(A+B+C)40

(B)
30
(A)

6

minutes

3

C's efficiency (C dh dk;Z{kerk)
= efficiency of (A + B + C) -  efficiency of (A+B+c)

- efficiency of (A+B) = 12 - (4+3)
= 5 units/minutes

C can fill the cistern alone in (vdsys C }kjk gkSt
dks Hkjus esa yxk le;)

34. (a) 

(Total capacity)

120

-2

15
(B)

(A)
40hours

efficiency 3

filling emptying 

Total unit of water filled is (Hkjs gq, ikuh dk dqy ;qfuV)
= 3 - 2 = 1 unit/min Tank will be filled in (Vadh Hkjus

esa yxk)

le;) = 
1

120
= 120 minutes

Tank will be filled in 120 minutes (Vadh 120 feuV
esa Hkj tkcxk) = 2 hrs

35. (c) If emptying pipe empty half the tank in 10

hrs then emptying pipe empty full tank in (;fn
[kkyh djus okyk ikbZij vk/h Vadh dks 10 ?kaVs esa [kkkyh
djsxk) 10 × 2 = 20 hrs

(Total capacity)

60

3

20
(B)

(A)

filling emptying 

12hours

efficiency 5

(A-B) efficiency = 5 - 3 = 2 units/h

2
30

s/unit2

C.Tof
2
1

  = 15 hrs

36. (d) 

(Total capacity)

120

3

60
(B)

(A)

filling emptying 

40hours

efficiency 3

Total unit of

water filled is (Hkjs gqvk, ikuh dh dqy ek=kk) = 3 - 2

= 1 unit/min tank will be filled in (Vadh esa Hkjus esa

yxk le;) = 
1

120
 = 120 minutes

37. (d) 

(Total capacity)

60

4

15
(Q)

(P)
12minutes

efficiency 5
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(P + Q) efficiency (dk;Z{kerk) = (5 + 4) = 9 units/minutes

(P + Q) fill in 3 minutes (rhu feuV esa Hkjsxk) = 9 × 3 =

27 units

Capacity left ('ks"k gkSt dks Q }kjk Hkjus esa yxk le;)

QofEfficiency
C.T

 = 
4
33

=8
4
1

 minutes

38. (b) 

(Total capacity)

48

6

8
(Q)

(A)
6minutes

efficiency 8

(A + B) fill a tank in 2hr (2 ?kaVs esa (A+B) }kjk Hkjh x;k
Vadh) = (8 + 6) × = 28 units

Capacity left = 48 - 28 = 20 units

B fills remaining Cistern in 
3
1

3
3

10
6
20



hours

39. (d) 

(Total capacity)

40

4

8
(A-leakage)

(A)
8hours

efficiency 5

A's efficiency (A dk;Z{kerk) = 5 units/hr

A's efficiency after leakage (fjlko ds ckn A dh
dk;Z{kerk) = 4 units/hr

  Leakage = 1 unit/hr

Leakage empty the whole cistern in (fjlko }kjk

iwjh Vadh dks [kkyh djus esa yxk le;) 
1
40

 = 40 hours

2011

40. (b) (Total capacity)
60

efficiency 6 5 10

hours 10
(P)

12
(Q)

6
(C)

(P+Q) fills (6+5)=11units/hr

C empties = 10 units /hr

If all pipes are open (;fn lHkh ikbi [kqys gks)

So, only 11–10 = 1 unit of water can be filled in

tank  per hour 
1

4
 of tank will be filled in  (

1

4
Hkkx

Hkjus esa yxk le;)

1
× 60

T.C 154
= =

Efficiency 1 1

 
   =

15 hrs

= 7 am + 15 hr = 10 pm

41. (c)  (Total capacity)
6

efficiency 3   1

hours 2
(A)

6
(B)

  Pipe A will fill 3

units  till  11 am. (11 am rd ikbi A rhu ;wfuV

Hkjsxk)

Capacity left ('ks"k /kfjrk) = 6 – 3 = 3 units Now

both pipes will fill and they will take (vc nksuksa

ikbiksa }kjk Hkjus esa fy;k x;k le;)

 
T.C 3

=
Efficiency 3 +1 = 

3

4

hours

So,
3

11
4

    am, tank will be filled = 11 : 45 A.M.

42. (a) Let total capacity of cistern is 5 units

(ekuk fd gkSt dh dqy {kerk 5 ;wfuV gS)A

filled part of the cistern

(gkSt dk Hkjk gqvk Hkkx)

 = 5 units × 
3

5
 = 3 units

Rest part of the cistern

(gkSt dk 'ks"k Hkkx) = 5 – 3 = 2 units

3 units filled in = 60 sec.

1 units filled in = 
60

3

2 units filled in=
60

3
 × 2 = 40 sec.

43. (c) Volume of cistern

(gkSt dk vk;ru) = 2r h

2r × h = 11000 cm3

22 25 25

7 2 2
  ×h = 11000cm3

h = 
11000 7 2 2

22 25 25

  
 
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THATHAGAT

IN
STITUTE

h = 
28 4 112 2

22
5 5 5

   cm

44. (a)

(Total capacity)
40

efficiency 5 

hours 8
(A)

10
(B)

(A + B)'s one hour filling (A + B) ds }kjk ,d ?kaVs esa

Hkjk x;k = 9 units

(A + B)'s 4 hour filling (A + B) ds }kjk 4 ?kaVs esa Hkjk

x;k=9×4 = 36 units

Part of tank filled

(Vadh dk Hkjk gqvk Hkkx) = 
36

40
 = 

9

10

45. (b)

(Total capacity)
60

efficiency 3   2

minutes 20
(P + Q)

Eff. of Q = (3 – 2) = 1 units

Q can alone fill cistern in  (Q }kjk vdsys gkSt dks
Hkjus esa yxk le;)

T.C 60

efficiency 1
 =60 minutes

46. (d)

(Total capacity)
30

efficiency 10  6  15

hours 3
(A)

5
(B)

2
(C)

If all pipes are open efficiency of filling/hour is

(;fn lHkh ikbi [kqys gks rks izfr ?kaVs Hkjus dh dk;Z {kerk)
= (10 + 6) –15 = 1 unit/hr

1 unit is filled in 1 hr

(1 ?kaVs esa ,d ;wfuV Hkjk x;k)

30 units is filled in 1 × 30 = 30 hrs

47. (a)

(Total capacity)
12

efficiency 3  2   1

hours 4
(A)

6
(B)

12
(C)

(A + B+ C)'s efficiency (dk;Z{kerk)= 3 + 2 + 1 = 6

units/hr

(A + B + C) can fill the tank in

T.C 12

efficiencyof (A B C) 6


   = 2 hrs

48. (a) Always try to solve these question by options

to save time.

(le; dh cpr ds fy, bl izdkj ds iz'uksa dks fodYiksa dh
lgk;rk ls gy djs)

(Total capacity)
(x)(x+10)

efficiency (x+10)

hours (x) (x+10)

=
( ) ( 10)

( 10)

x x

x x

 
   = total time taken by both pipe

(nksuksa ikbiksa }kjk  fy;k x;k dqy le;) Now take out

one option and put it in place of 'x'

  x = 20 (from option (a))

(20) (20 10) 20 30

(20 10) (20) 50

  
  = 12 hrs

It matches with questions figure.

Total time matches. So this is answer 20 hrs

49. (b)
(Total capacity)

96

efficiency 4

hours 24
(x)

32
(y)

If tank is to full in 18 minutes so pipe 'x' will

work for these 18 minutes (;fn Vadh 18 feuV esa Hkj

tkrh gS] rks bldk eryc gS fd ikbi x 18 feuV rd dke

djrk gS)

Pipe 'x' fills in 18 minutes (18 feuV eas ikbi x Hkjrk

gS)= 18 × 4 = 72 units

Capacity left = 96 – 72 = 24 units

So left capacity of tank/cistern must be filled

by pipe 'y' (vr% 'ks"k gkSt vfuokZ;r% ikbi y }kjk Hkjk

tk,xk)

Pipe fills in 
24

3
 = 8 mins

So, after 8 minutes it must have closed.

50. (c)
(Total capacity)

36

efficiency 6  4   3

hours 6
(A)

9
(B)

12
(C)

In half an hour (B +  C)  must have filled =

4 3 7

2 2 2
   units
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THATHAGAT

IN
STITUTE

Capacity left ('ks"k /kfjrk) = 36 – 
7

2
 = 

65

2
 units

Now, all pipes will fill the remaining tank

(vc lHkh ikbi }kjk 'ks"k Vadh dks Hkjus esa yxk le;)

=
65

2 (6 4 3)   =
65

2 13 =
5

2
=

1
2

2
 hrs

51. (c)
(Total capacity)

90

efficiency 10

hours 9
(A)

10
(A-Leak)

Efficiency of pipe

with leak is 9 units

(fjlko ds lkFk ikbi dh dk;Z{kerk 9 ;wfuV gS)
(A - leak) = 9 units

10 - leak = 9 units

    - leak = 9 - 10 leak

= 1 units/hr

leak will empty the full tank in (fjlko }kjk iwjh Vadh
dks [kkyh djus esa yxk le;)

T.C 90

Efficiency 1
  = 90 hrs

52. (a)Flow of water depend upon

Pipe1 Pipe2 Pipe3

Diameter  60 30 20

Radius      30 15 10

 (30)2  (15)2    (10)2

900 225 100
Unit of water they can flow

(v  r2) 900 225 100

No. of Pipes 
Total Water flower

1

900

2

450

3

300
So pipe 1 with diameter 60 is fastest

(60 ehVj O;kl okyk ikbi A rhozre gS)
53. (d)

(Total capacity)
60

efficiency 2

minutes 30
(A)

60
(B)

(A + B)'s filling (2+1)= 3 units/min

In 5 minutes they will fill 3 × 5 = 15 units

Capacity left ('ks"k /kfjrk) = 60 – 15 = 45 units

Second Pipe (B) fills it in (nwljs ikbi B }kjk Hkjus esa
yxk le;)

T.C 45

EfficiencyofB 1
 = 45 minutes

54. (b)
(Total capacity)

180

efficiency 5 4  6

minutes 36
(A)

45
(B)

30
(C)

(A + B)'s 7 minutes filling (A + B) lkr feuV esa Hkjsxk
= (5 + 4) × 7 = 63 units

Now C is opened, it emp-ties by 6 units/ min.

(vc C [kksy fn;k x;k vkSj ;g 6 ;wfuV izfr feuV [kkyh djrk
gS)
So total units filled in tank is = (5 + 4) – 6 = 3

units/min

Now tank can be filled in (vc Vadh Hkjus esa yxk

le;) =  
117

3
 = 39 mins

Tank is filled up in = 7 + 39 minutes = 46 min

55. (a)
6

efficiency  3

hours 2
(A)

3
(B)

(A + B) fill tank in (A + B) }kjk Vadh Hkjus esa yxk le;

= 
T.C 6 1

1
Efficiencyof (A B) 3 2 5

 
   = 1 hour 12 min

56. (d) 1 sec   1 drop

No of second in 300 days.

(24
hrs 

× 60
mins

 × 60 
sec

)× 300 days

No of litres wasted

100× 24 60 60 300

600

   =43200 × 100

= 
4320000

1000
= 4320 litres

57. (b) 
1 1 1 2 2 2

1 2

m h T m h T

W W

    
 

 
 9

taps
 × 20

mins
 = T

taps
 × 15

mins

T = 12 Taps
58. (c)

(T.C)
60

efficiency 3

minutes 20
(A)

30
(B)

A fill 3 units first minute and B empties 2 units

in second minutes (A igys feuV esa rhu ;wfuV Hkjrk gS
rFkk B nwljs feuV esa nks ;wfuV [kkyh djrk gS)
(A + B)'s efficiency = 3 – 2/
2 min = 1 units/2min

Efficiency Time

A work

They take to fill 60 units in (60 ;wfuV Hkjus esa muds
}kjk fy;k x;k le;) = 115min

59. (b)
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(Total capacity)
180

B CA

6l
./
m
. –5l./m

.

(+) (+) (–)

4

A...............(+) 30 minutes

B...............(+) 45 minutes
C...............(–) 36 minutes

 Filled water by (A + B) in 12 min = 12 × (6 + 4)

= 12 × 10 = 120 litre

 Remaining capacity ('ks"k /kfjrk) = 180 – 120 =

60 litre  After 12 min. emptied pipe C is also

opened (12 feuV ckn fudklh uy C Hkh [kqy tk,xk)
 Total capacity (A + B –C) = (6 + 4 –5) = 5l./m.

 Time taken by (A + B – C) with capacity 5l./

m.

to fill the remaining part (5l./m.{kerk ls 'ks"k VSad
dks (A + B – C) }kjk Hkjus esa yxk le;)

= 
60 .

5 . / .

l

l m

 Therefore, total time which the tank will be

filled up is (vr% VSad dk Hkjus esa yxk dqy le;) =12

+ 12 = 24 minutes

60. (d)

 y x

hours 
A
(+)

B
(–) y emptied

xy (Total capacity/ )

hour hour
Time will be taken by with of them to fill the

tank (nksukas }kjk VSad dks feydj Hkjus esa yxk le;) =

–

xy

x y


